INSTALLATION INSTRUCGTIONS

KAWASAKI NINJA 400

FENDER ELIMINATOR

‘1 Remove seat.

2 > Remove (4) 5mm allen bolts. (Picture 1)

3 > Unplug (3) stock connectors and slide off stock tail section.
4 > Remove top plate from lens bracket. (Picture 2)

<5 > Mount NRC license plate to lens bracket with (2) M6x12 bolts and (2) M6 nylon nuts.
‘ (Picture 3/4)

(6 >  Feed wires through previously removed top bracket and slide into place. (Picture 5)

<1 > Mount NRC kit onto bike with (4) M6x16 bolts and (4) M6 flange nuts. (Picture 6/7)

info@newragecycles.com | 914.339.2929




INSTALLATION INSTRUCGTIONS

FENDER ELIMINATOR

58 3 Plug in connectors and test turn signals and plate light.

59 3 If load equalizer was ordered to stabilize flash speed, use blue t tap connectors to
install. Wire colors are on bag.

info@newragecycles.com | 914.339.2929



